5-4+3=
2+2+1=
3+2-2=
1+4-3=
2+1-3=
5-2-3=
4-2+1=
3+1-1=
1+2+2=
1-1+2=
5-1+0=
4-1-1=
3-0-2=
3-2+1=
3-3+5=
4+1-3=
1+1+3=
3+2-0=
5-4+1=
2+2-2=
4-4+3=
3+2-4=
5-3+1=
1+3-1=
4+1-0=
2-1+4=
1+0+3=
3+2-3=
5-3+1=
2+3-0=
4+1-5=
5-3+2=
1+4-3=
3+1-0=
4-1+0=
3-2+2=
5-2+1=
4-0-4=
1+3+1=
3+1+1=
2+3-4=
5-1-2=
1+2-2=
4-3+2=
5-5+4=
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1+(4-3)=
4-1)-2=
2-(4-3)=
(83+2)-0=
4+(5-4)=
(2+3)-4

(1+4)-5
5-(4-1)
(3-3)+4=
1+(3+1)=
2+(1+2)=
@4-1N+2=
5-(3+2)=
4-(1+2)=
(83+2)-4=
1+(3-1)=
2+(3+0)=
5+(4-4)=
1+(4-2)=
4-(1+1)=
(2-0)-2=
5-(5+0)=
3-(4-2)=

(1+3)-2=

+(5-3)=

-(5-2)=
4+1)-0=
1+0)-1=
5+(5 5)=

-(5-3)=

+(2+0)=
+1)=

+2)+2=
_4)+3=
(5-4)=

+(@4-1)
+0)-3
+t@4-1)=
5-8-2)=

4-4)+5=
2+(2+1)=
1+(1+3)=
5-3)-1=
1-(1+0)=
3-(4-3)=

2
5

1
S
2

5

3
5-
(
(
3-
(
1

1+4-2-3=
4+0-2-1=
3-1+2+1=
5+0-4+3=
1+3-1-1=
2-2+4-1=
4+1-3-1=
3+2-0-4=
1+1+3-2=
5-4+2+1=
2+3-1-2=
4-3+2-1=
1-1+4-2=
3+2-5+4=
2-1+4-3=
5-5+4+1=
1+2+2-3=
2+2+1-3=
4-1+2-3=
5-3+1-2=
3-1-1+2=
1+0+4-3=
2+2+0-4=
4+1-4+3=
5-3+2+1=
3+1-2-0=
1+4-0-5=
2+3-4+1=
5-4+3+1=
4-2+3-0=
1-1+4-1=
2+1-3+5=
5-1-1-2=
3-3+4-2=
1+2-1+3=
2+1+2-0=
4-1-2+3=
3-2+4-3=
1+3+1-2=
5+0-3+2=
2+2-3+4=
4-3+1+2=
5-4+1-0=
3+1-2-1=
1+2+2-5=

3+1-(5-4)=

S5-(B+1)+

3-2+(1+2)=
2+2+(2-2)=

3-2+(1+

5-(3+2)+4=

5-1-(3+
1+2-(4-

2-1-(5-4)=
2-(4-4)+3=

2=

1)=

1)=
1)=

142+(5-3)=

2-1+(4-

3+2-(5-0)=
2-(4-2)+4=
4-1+(0+2)=
1+3-(4-2)=

1+(5-2)-
3+1+(2-

1+1+(5-3

(
5—1—( —2)=
(8-

(

)

)
2
)=
)=

2+2+(4-3)=

4-(1+1)+
4-1+(1+
3-1-(4-
3+2-(4-
1+4—(
1+2—(
3-1+(
1+3-(5-
3+1-(5-

1+
3-
1+

3=
1)=
2)=
3)=
1=
1=
1)=
2)=
1=

w a+w+m
(1+2)+(4-2)
(3+2)-(5-1)=
(2+2)-(5-4)=
(2-2)+(1+4)=
(4-3)+(4-4)=
(2+2)+(4-3)=
@4-3)+(5-1)=
(1+2)-(4-1)=
(5-4)+(5-3)=
(2+2)-(3-1)=
(2+3)-(4-1)=
(1+2)-(3-0)=
(5-3)-(4-2)=
@4-2)+@2-1)=
(5-4)+(5-1)=
(5-4)+(4-3)=
(2-2)+(5-3)=
4-3)+(5-3)=
(B3+1)-(5-2)=
(5-3)-(4-3)=
B-N+(+2)=
(5-2)+(@-2)=
(1+2)-(2+1)=
4+1)-(2+3)=
(1+2)-(5-3)=
G-10)-@-1)=
(4-3)+(@4-1)=
(2+3)-(4+1)=
(5-2)+(4-2)=
4-1N+@3-1=
@4+1)-(5-2)=
(4-2)+(5-4)=
(B+1)-(5-1)=
(4-3)+(4-3)=
(3+2)-(4-1)=
(3-2)+(5-1)=
(1+1)-(5-3)=
(3-2)-(1-1)=
(2+3)-(8-1)=
4-2)+(3-0)=

(5-

-(2+
( ) Q+1

+(4-
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BAPUAHT 2
5-1-2= 5-4-1)= 3-1-2+5= 2+(3-2)-1= 3+1)-(5-3)=
1+3-1= 1+(2-1)= 2-1+2-0= 3+(@4-2)-5= (1+2)-(3-1)=
5-2+1= 5-(56-2)= 2-2+5-4= 2+1+(3-1)= (5-4)+(5-4)=
2-2+40= 4+(1-0)= 4-1+2-1= 1+4-(5-4)= (4-2)-(5-3)=
4-3-0= 1+(1+1)= 4-2+3-4= 2+1+(2-1)= 8+1)-(4-0)=
2+1+2= 3-(3+0)= 1+1-2+0= 1+3-(5-3)= 83-1)-(5-3)=
5-4+3= (3+1)-4= 4-2-1+3= 1+3-4-1)= (1+4)-4-1)=
4+1-3= 4-(4-1)= 1+1-2+2= 3+(@4-2)+0= (83-2)+(5-2)=
3+0-2= 1+(@4-1)= 4+1-5+2= 2-(4-3)+2= (5-2)+(1+1)=
3-1+2= 1+(4-2)= 3+1-2-2= 5-1+(4-3)= (1+1)-@-1)=
4+1-4= 1+(4-0)= 4+1-1-1= 3+(1+1)-5= (2+2)-4-1)=
3+1-1= (2+2)-1= 2+1+2-4= 2+3-(1+4)= 4+1)-(5+0)=
2+3+0= 1+(5-3)= 3+2-1-3= 2+1-(5-2)= 4-1)+(5B-3)=
3+2+0= 5-(1+4)= 1+1+2-3= 3+2+(1-1)= (5-3)+(1+1)=
2+2-1= 5-(3-2)= 5-1-3+2= 2+1+(4-4)= @+N+(@2-1)=
5-2-0= 4-(2-1)= 4-3-1+4= 2-1-(1-1)= (1+1)+(5-3)=
1-1+3= 2+(5-3)= 5-4+1+2= 5-(1+1)+2= (4-2)-(4-3)=
1+4-1= 2+(4-3)= 3-3+5-2= 4-(5-2)+4= 3-1-(B8-2)=
4-3+1= 2-(5-9)= 4+1-5+0= 3-1-(5-3)= (1+1)+(5-4)=
5-1-3= 1+(3-0)= 3-2+4-3= 4-(5-3)+0= (2+3)-(4-3)=
2+1+1= 3+(8-2)= 2+0+3-4= 1+42-(3-2)= (2+3)-(3-2)=
5-5+1= (3+1)-0= 3+2-5+0= 5-(1+1)+1= (2+2)-(3-2)=
2-2+1= 4-(1+1)= 5-2-3+4= 5-(4+1)+3= (3+2)-(5-2)=
1+1+3= 2-(5-95)= 5-3+2+1= 3+1-(5-2)= B8+1)-(4-2)=
2-2+4= 4-(2-2)= 1-1+2-1= 2+(4-1)-3= (3-2)+(4-3)=
1+2-3= 2-(1+0)= 4-3+4-1= 2-1+(2+1)= (2+2)-(3+1)=
4-3+2= 4-(1+2)= 4-2+3-2= 4-(1+1)-2= (4-3)+(@4-2)=
4+1-1= 4+(2-1)= 4-2+1-0= 1+4+(2-2)= 1+H-(1+1)=
4+1-2= 2+(1+2)= 3-3+5-4= 3-(1+2)+5= (5-3)-(3-1)=
3-2-1= (2+2)-3= 5-4+1+3= 2+2-(4-4)= (5-1)-14+0)=
5-5+2= (5-5)+3= 5-4+3-1= 3-3+(5-3)= (83-2)+(@4-1)=
4+1-0= 4-(3+1)= 4+1-5+3= 2-(1+1)+2= (5-3)+(5-2)=
2+3-4= 5-(3+2)= 3-2+2-1= 1+2-(4-3)= (83-2)-(4-3)=
1+4+0= 5+(3-3)= 4-2+1+1= 4+1-(3-2)= (3-2)+(4-2)=
5-0-5= 1+(4-3)= 3+1-2-1= 1+2+(5-4)= 4-2)-(3-1)=
3-2+4= 3-(4-2)= 4-2+1-3= 4-1-(1+1)= (1+1)-(4-3)=
3+1+1= 4-(5-1)= 5-1+0-4= 5-(2+1)+1= (4-3)+(5-4)=
1+1+1= 4-(5-4)= 4-2-2+4= 4-(5-2)-1= (5-1)+(5B-4-=
1+4-2= 5-(2+1)= 2-2+3-2= 2+(@4-1+0= B-1+(5-2)=
3-0+1= 5-(5-3)= 1+2-3+4= 4+1-(5-3)= (5-3)+(5-3)=
5-3-1= 1+(2-0)= 5-2+1+1= 2+3-(5-1)= 4-3)+(2+2)=
4-2+2= 5-(5-4)= 4-3+4-2= 1+3-(4-1)= B8-2)-(2-1)=
1+2-1= 3+(1-1)= 2-1+3-4= 3+(5-4)+1= (5-2)-(4-3)=
1+2+0= 4-(3-1)= 3+2-5+4= 5-2+(4-3)= 1-1N+@2+2)=
5-4-0= 3-(4-3)= 3-1+2-3= 2+1+(3-2)= 4-1)+(55-4)=
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